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ユニット１：プロダクション・システムを理解する
1.1　ACT-R プロダクション・システム
ACT-R はプロダクション・システムの理論である．人間の認知の背後にある知識構造のモデルを構築することで，認知を説明することを試みる．ACT-R には２つのタイプの知識表象がある．宣言的知識（declarative knowledge）と手続き的知識（procedural knowledge）である．宣言的知識は，それを知っているということをわれわれが意識できるものであり，たいていはそれについて他者に述べることができる．たとえば，「ジョージ・ワシントンは合衆国の初代大統領である」とか「原子は太陽系のようなものだ」といったものが宣言的知識である．手続き的知識は，われわれの行動の中に見出されるが，われわれはそれを意識していない知識である．たとえば，われわれは言語を話すためのルールを述べることはできないけれども，実際のところ言語を話している．ACT-R の宣言的知識はチャンク（chunks）と呼ばれる構造で表され，手続き的知識はプロダクション（productions）と呼ばれるルールとして表される．チャンクとプロダクションはACT-R モデルを構築する基礎となる建築ブロックである．

ユニット１の役割は，チャンクとプロダクションを明示するための形式的表記法を示し，これら２つのタイプの知識がいかに相互作用して認知を生み出すかを記述することである．プロダクション・システムの解釈と記述において，方向づけられた練習を行う．

1.1.1 ACT-R でのチャンク
ACT-R では宣言的知識の要素はチャンク（chunks）と呼ばれる．チャンクは，人が問題を解決するときに持っていると期待される知識を表す．チャンクはそのタイプ（type）とスロット（slots）によって定義される．チャンクタイプ（chunk-types）をカテゴリ（たとえば，鳥），スロットをカテゴリの属性（たとえば，色や形）と考えることができる．チャンクはそれを参照するための名前を持つが，名前はチャンクそのものの一部ではない．以下は，「犬が猫を追いかける」および「4+3=7」という事実を符号化するチャンクの表象である．チャンクはその名前で表され，その下にスロットと値のペアが示される．最初のチャンクのタイプはchase であり，そのスロットは agent と object である．isa スロットは特別なスロットで，チャンクのタイプを特定する．次のチャンクのタイプは addition-fact であり，そのスロットは addend1，addend2，そして  sum である．
Action023
    isa chase
    agent dog
    object cat

Fact3+4
    isa addition-fact
    addend1 three
    addend2 four
    sum seven

1.1.2　ACT-Rでのプロダクション
プロダクション・ルールは行動をコントロールする特定の随伴性を記述したものである．例を挙げる．
IF 目標は人を分類することであり，
    その人は結婚していないならば，
THEN その人を未婚として分類せよ．
IF 目標はある列の２つの数字 d1と d2 を加えることであり，
     d1 + d2 = d3 ならば，
THEN  d3 をその列に書くという下位目標を設定せよ
プロダクション・ルールの条件（IF 部）は，様々なバッファ（buffers）におけるチャンクの記述から構成される．プロダクション・ルールの行為（THEN 部）は，そのバッファにおけるチャンクの修正，他のチャンクをバッファに入れる要求，あるいは他の行為の実行要求である．上に示したのは日本語によるプロダクション・ルールの非公式な記述である．これらはバッファにおけるチャンクの文脈においてプロダクション・ルールが行うことの概観を与えているが，プロダクションにおいて生じる必要のあることすべてを詳細に示しているわけではない．ACT-R システムでのプロダクションの正確な記述のためのシンタックスについて学習していく．
1.2　知識要素を作る
チャンク，チャンクタイプ，プロダクションを作るためには，必要なACT-R コマンドを発行しなければならない．すべての ACT-R コマンドはLisp 関数なので，かっこに入れて記述される．左かっこの次にくる最初の項がコマンド名である．その後に項の詳細が続いて，最後に右かっこが来る．以下のセクションでは，ACT-R での知識表象を作るためにコマンドをどのように用いるかを示す．
1.2.1 新しいチャンクタイプを作る
「鳥」とか「足し算の事実」といった新しいタイプのチャンクを作るためには，chunk-type 
コマンドを用いてチャンクの枠組みを規定する必要がある．このためには，チャンクタイプの名前と，そのチャンクが持つスロットの名前が必要である．チャンクタイプは一般に次のように記述する．
 (chunk-type 名前 スロット名１ スロット名２ … スロット名n)

いくつかの例を挙げる．
(chunk-type bird species color size)
(chunk-type column row1 row2 row3)

chunk-typeへの最初の引数は新しいタイプの名前を示す．上の例ではbirdと columnである．それぞれのチャンクタイプはまた多くのスロットを持ち，それぞれのスロットはひとつの値を持つことができる．チャンクタイプの記述における残りの引数は，そのチャンクのタイプにおけるスロット名である．
1.2.2 チャンクを作る
チャンクのセットを作り，それらを自動的に宣言的知識に加えるコマンドはadd-dmである．これは引数として任意の数のチャンクの記述をとる．次に示すのはcount モデルでの例である．
(add-dm

   (b ISA count-order first 1 second 2)

   (c ISA count-order first 2 second 3)

   (d ISA count-order first 3 second 4)

   (e ISA count-order first 4 second 5)

   (f ISA count-order first 5 second 6)

   (first-goal ISA count-from start 2 end 4))

それぞれのチャンクはリストで記述される．リストの最初の要素はチャンクの名前である．名前はどのようなものでもよく（ACT-Rによってすでに使われているチャンク名を除く），チャンクごとに異なったものでなければならない．上の例では，チャンク名はb， c， d， e， f， first-goal である．名前の目的はチャンクを参照する手段を与えることである．名前はチャンクの一部ではなく，実際のところ省略が可能である．この場合には新しい一意な名前が自動的に生成される．リストの残りの部分はスロット名と初期値のペアである．最初のペアはisa スロットとチャンクのタイプでなければならない．isa スロットはどのチャンクにもひとつある特別なものである．その値はチャンクのタイプであり，chunk-type で定義されたタイプか，あらかじめ定義されているタイプでなければならない．この値は変更できない．スロットと値のペアの残りはどの順序で指定してもよく，チャンクのすべてのスロットに対して初期値を与える必要はない．あるスロットの初期値が与えられなかった場合には，そのスロットは空白であり，これは Lispのシンボルnil で 表される．
1.2.3　プロダクション・ルール
プロダクション・ルールは条件と行為のペアである．プロダクション・ルールの条件（左辺LHSとも言う）は，そのプロダクションが適用されるためにバッファに存在しなければならないチャンクのパターンである．プロダクション・ルールの行為（右辺RHSとも言う）は，プロダクションが発火したときに行われる行為を指定している． 
1.2.4　バッファ
プロダクションについて話を続ける前に，バッファとは何かを述べておく必要がある．バッファは，ACT-R アーキテクチャにおける，手続き的記憶のシステムと他の構成要素（モジュール呼ぶ）とのインタフェースである．たとえば，goal バッファはゴールモジュールとのインタフェースである．それぞれのバッファは一度にひとつのチャンクだけを保持することができ，プロダクションの行為バッファの内容に影響を与える．本質的には，バッファはスクラッチパッドのように働いて，チャンクの生成と変更を行う．
この章では２つのバッファだけを扱う．ひとつは現在のゴールを保持するものであり，もうひとつは宣言的知識のモジュールから検索された情報を保持するものである．後の章では，ここで用いるgoal バッファとretrievalバッファの働きをさらに明らかにし，他のバッファとモジュールを導入する．
1.2.5　プロダクション・ルールについて続き
プロダクション・ルールの一般的な形式は次のようなものである．
(p 名前 「オプションの記述文字列」
  バッファのテスト
==>
  バッファの変更とリクエスト
)

プロダクションはそれぞれ一意の名前を持たなければならない．そのプロダクションが行うことを示す文字列をさらに持ってもよい．バッファのテストは現在のバッファの内容に対してマッチするパターンの集合である．すべてのパターンが正しくマッチすれば，プロダクションがマッチしたとされ，選択可能となる．現在のバッファの内容に対して，一度に複数のプロダクションがマッチすることがありうる．マッチしたすべてのプロダクションのうちから，ただひとつのプロダクションが選ばれて発火し，そのプロダクションの行為が遂行される．マッチしたプロダクションの中からひとつのプロダクションを選ぶプロセスは競合解消（conflict resolution）と呼ばれ，後のユニットで詳細に議論する．とりあえず，重要なのは一度にひとつのプロダクションだけが発火できるということである．プロダクションが発火すると，マッチングと競合解消が再び行われる．これはモデルが終了するまで続く． 

1.3　プロダクション・ルールの記述
以下のいくつかのサブセクションでは，プロダクションの条件と行為を指定するシンタックスについて述べる．数を順に数える以下のプロダクションを用いて説明を行う．
(P counting-example


日本語での記述
   =goal>




If　ゴールのチャンクが
      
isa      count


   countタイプであり，
     state    incrementing 
   state スロットは incrementingであり，
     number   =num1

       =num1と呼ぶことにする数字があり，
   =retrieval>



さらに，retrieval バッファのチャンクが
            isa      count-order
 count-orderタイプであり，
     first    =num1

      first スロットが値  =num1を持ち，
     second   =num2

      second スロットが 
 





   =num2と呼ぶことにする値を持つならば，
==>





Then

        =goal>




ゴールを変更して
     number   =num2

      =num2からカウントを続けるようにし，
   +retrieval>



さらに，retrievalバッファにおいて
            isa     count-order

   count-order のチャンクを検索して，
     first   =num2

      =num2の次の数を見つけよ．
)

1.3.1 　プロダクションの条件
上に示したプロダクションの条件は，goal バッファに対してマッチするパターンと，retrieval バッファに対してマッチするパターンを指定している．
   =goal>

     isa         count

     state       incrementing

     number      =num1

   =retrieval>

     isa         count-order

     first       =num1

     second      =num2

パターンは，テストされるバッファの指名で始まり，その後に「>」が続く．goal および retrieval という名前はgoal バッファとretrieval バッファのことを指している．バッファ名の前にはプレフィックス「=」が必要である（これについては後述する）．バッファを指名した後の最初のテストでは，isaテストとチャンクタイプの名前を用いて，チャンクタイプを指定しなければならない．その後には，そのチャンクタイプのスロットについての任意の数のテストを続けることができる．スロットのテストではオプションの修飾子（例題のテストでは用いられていない），スロット名，そのスロットが持たなければならない値の指定から構成される．値は特定の定数でも変数でもよい． 
よって，最初のパターンの以下の部分
   =goal>

     isa         count

     state       incrementing

は，このプロダクションがマッチするためには，goal バッファにおけるチャンクのタイプが count であり，state スロットの値がincrementing でなければならないということを意味している．
goalパターンでの次のスロットテストには変数が含まれている．
     number      =num1

プロダクションにおけるプレフィックス「=」は変数を表すために用いられる．プロダクションにおける変数は一般的な条件に対するテストを行うために用いられる．変数は２つの基本的目的のために用いることができる．プロダクションの条件では，異なったスロットの値を比較するために用いることができる．たとえば，スロットが持ちうる値すべてを知ることなく，同じ値あるいは異なった値を持つかどうかを調べることができる．変数はまた，プロダクションの行為において，ひとつのスロットから別のスロットに値をコピーするために用いることができる．変数の名前はどのようなシンボルでもよく，プロダクションの目的を明確にすることを助けるように選ぶべきである．変数は特定のプロダクションの中でのみ意味を持つ．異なったプロダクションで同じ変数名を用いても，これらの間には何の関係もない．変数がマッチするかどうかのテストでは，スロットに値が入っていなければならない．Lisp のシンボルnilで表される空白のスロットは，バッファ指定における変数にマッチしない．
ここで，retrieval バッファのパターンを詳しく見よう．
   =retrieval>

      isa         count-order

      first       =num1

      second      =num2

最初に，チャンクのタイプがcount-orderであるかをテストしている．次に，チャンクの first スロットが変数 =num1であるかをテストしている．この変数はgoal のテストでも用いられたので，これは，retrieval バッファにあるチャンクのこのスロットが，goal バッファにあるチャンクのnumber スロットと同じ値を持つかどうかをテストしている． 最後に，second スロットが=num2と呼ばれる変数を持つかどうかをテストしている．これは，second スロットが空白ではなく，値を持たなければならないということを意味しているが，ここに入る値については制約がない．
まとめると，このプロダクションは，goal バッファのチャンクのタイプが countであり，retrieval バッファのチャンクのタイプがcount-orderであり，goal バッファのチャンクがstate スロットに値 incrementing を持ち，goal バッファのチャンクのnumber スロットの値とretrieval バッファのチャンクのfirst スロットの値が同じであり，retrieval バッファのチャンクのsecond スロットに何らかの値が入っているときにマッチする．
最後に注意しておくことは，バッファの指定に使われた =goal と =retrievalもまた変数だということである．これらはそれぞれ，goal バッファにあるチャンクと retrieval バッファにあるチャンクに束縛される．バッファにあるチャンクに対するこれらの変数は，他の変数と同様に，スロットの値をテストすることや，チャンクをスロットに入れるのに使うことができる．
1.3.2　プロダクションの行為
プロダクションの右辺はバッファに作用する行為の小さなセットである．次のものは例題のプロダクションでの行為である．
   =goal>

      number      =num2

   +retrieval>

      ISA         count-order

      first       =num2

行為は条件と同じように指定される，バッファの名前に続いて「>」が置かれ，それからスロットとその値の指定がなされる．あるバッファに対して生じる行為には３つのタイプがある．それらはバッファ名の前につけられる記号で指定される．
1.3.2.1　バッファの修正
プレフィックス「=」によってバッファ名が指定されているときは，現在バッファにあるチャンクの修正を行う．よって， goal バッファに対する行為
   =goal>

      number      =num2

は，goal バッファでのこのチャンクのnumber スロットの値を，retrievalバッファにあるチャンクのsecond スロットに現在入っている値に変える．これは，あるスロットに入っている値を他のスロットにコピーするのに用いられる変数の例である．
1.3.2.2 バッファのリクエスト
プレフィックス「+」によってバッファ名が指定されているときには，そのバッファのモジュールに対してリクエストを行う．これはたいてい，そのモジュールのバッファにあるチャンクを他のチャンクに置き換えるものであるが，バッファに既にあるチャンクに何らかの変更を行うよう，そのモジュールに対して要求することもある．それぞれのモジュールはそれぞれの目的を持っており，異なったタイプのリクエストを扱う．このチュートリアルでの後のユニットでは，視覚的注意および手のコントロールのリクエストを扱うことのできるモジュールについて述べる．
このユニットでは，宣言的記憶のモジュールとゴールのモジュールだけを扱う．宣言的記憶のモジュール（このモジュールに対してはretrievalバッファがインタフェースである）へのリクエストはいつも，指定にマッチするチャンクをモデルの宣言的記憶から検索し，そうしたチャンクが見つかればretrievalバッファに入れるリクエストである．
 したがって，次のリクエスト
   +retrieval>

      ISA         count-order

      first       =num2
は，タイプがcount-order で，first スロットに =num2と同じ値を持つ チャンクを検索するよう，宣言的記憶のモジュールに対してリクエストを行っている．モデルの宣言的記憶にこうしたチャンクが存在すれば，それがretrievalバッファに入れられる．
1.3.2.3　バッファのクリア
バッファに対して遂行できる第３のタイプの行為は，チャンクをバッファから明示的にクリアすることである．これを行うには，プロダクションの行為において，バッファ名の前に「-」を置く．
よって， プロダクションの RHS における次の行為は，retrieval バッファからチャンクをクリアする．
   -retrieval>

1.3.2.4　暗黙的なクリア
明示的なクリアに加え，バッファに対して生じる暗黙的なクリアがある．「+」のついたモジュールの行為のリクエストは自動的にそのバッファをクリアする．よって，例題のプロダクションにおけるリクエスト
   +retrieval>

      ISA         count-order

      first       =num2
によって，retrieval バッファは自動的にクリアされる．
1.4　ACT-R モデル
これから，一連の例題を通して，プロダクション・システムがどのように働くかを例示し，ACT-R 環境を紹介する．ACT-R チュートリアルで行うすべての作業では，いずれかのACT-R 環境を用いることになるだろう．この環境は，ACT-R モデルの実行，検討，デバッグのためのGUI である．これは，さまざまなオペレーティング・システムでの，複数のベンダーからの Lisp 実装で走らせることができる．あるいは，Windows および Mac OS X ではLispアプリケーションなしでもよい．
ACT-R のモデルのファイルは，そのモデルがどのように働くかを記述した，ACT-R コマンドを含むLisp のソースコードが書かれたテキストファイルである．テキストファイルを扱うどのようなアプリケーションでも，モデルのファイルを開いて編集することができる．GUI の使えるLispを使っているのならば，かっこの対応とかLisp言語のリファレンスツールなど，Lispコードを編集するための多くのサポートを提供するだろうから，モデルを開いて編集するのに最適のツールであろう．コマンドラインのLisp を使っているのならば，他のテキストエディタを使う必要があるだろう．単独（standalone）バージョンのACT-R 環境を使っているのならば，それが提供するテキスト編集機能を使うことができる（しかしながら，ほとんどのテキストエディタは単独バージョンの環境での非常に基本的なテキストツールよりも多くの機能を提供するから，他に選択肢がない場合を除いてお勧めしない）．
モデルを使うにはACT-R ソフトウェアを走らせるLispアプリケーションにモデルをロードしなければならない．そのため，最初に行う必要があるのは，Lispアプリケーションを走らせてACT-Rをロードすることである．次に，start-environment コマンドを呼ぶことにより，ACT-R環境をスタートさせてACT-Rをつなぐ（システムのスタートの詳細については，ACT-R 6のdocsディレクトリにあるQuickStart.txt ファイルを見よ）． こうして準備ができたらモデルをロードする必要がある．モデルのロードは，ACT-R をロードしたのと同様にLispアプリケーションで直接に行うこともできるし，ACT-R 環境の「Load Model」ボタンを用いてもよい．モデルに対して実験を提示するためのLisp 関数を含むモデルのファイルでは，ロードする前にモデルをコンパイルすると，よりよいパフォーマンスが得られるだろう．ほとんどのLisp GUIは「Compile and Load」と呼ばれるオプションを提供しているので，それを使うことができる．デフォルトですべての関数をコンパイルするLisp もある（詳細については使用している Lispの文書を見よ）．
モデルをロードしたら，それを走らせることができる．実験とつながっていないモデルは，ACT-R環境のコントロールパネルにある「Run」ボタンを押すか，ACT-R のrun コマンドを呼ぶことで，走らせることができる．run コマンドはパラメータをひとつ必要とする．モデルを走らせる，シミュレートされた時間の長さを秒単位で指定する．コントロールパネルの「Run」ボタンでは，ボタン右側のボックスにこの時間を指定する．run 関数を呼ぶときにはこのパラメータを与える必要がある．
ここで，ここまでに述べたアイデアを実行するために，用意された例題モデルの学習を始めよう．

1.5　Count モデル
最初のモデルは数の数え上げを行う単純なプロダクション・システムである．たとえば，2から4まで，2，3，4と数え上げる．このモデルはユニット１のチュートリアルファイルに含まれている，「count.lisp」というファイルである．ACT-R とACT-R 環境をスタートさせ， count モデルをロードしよう．
コントロールパネルのRun ボタンを押すと，Lispアプリケーション（あるいは，単独バージョンのACT-R ではListenerウィンドウ）に，以下のような出力がなされる．
     0.000   GOAL                   SET-BUFFER-CHUNK GOAL FIRST-GOAL REQUESTED NIL 

     0.000   PROCEDURAL             CONFLICT-RESOLUTION 

     0.000   PROCEDURAL             PRODUCTION-SELECTED START 

     0.000   PROCEDURAL             BUFFER-READ-ACTION GOAL 

     0.050   PROCEDURAL             PRODUCTION-FIRED START 

     0.050   PROCEDURAL             MOD-BUFFER-CHUNK GOAL 

     0.050   PROCEDURAL             MODULE-REQUEST RETRIEVAL 

     0.050   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.050   DECLARATIVE            START-RETRIEVAL 

     0.050   PROCEDURAL             CONFLICT-RESOLUTION 

     0.100   DECLARATIVE            RETRIEVED-CHUNK C 

     0.100   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL C 

     0.100   PROCEDURAL             CONFLICT-RESOLUTION 

     0.100   PROCEDURAL             PRODUCTION-SELECTED INCREMENT 

     0.100   PROCEDURAL             BUFFER-READ-ACTION GOAL 

     0.100   PROCEDURAL             BUFFER-READ-ACTION RETRIEVAL 

     0.150   PROCEDURAL             PRODUCTION-FIRED INCREMENT 
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     0.150   PROCEDURAL             MOD-BUFFER-CHUNK GOAL 

     0.150   PROCEDURAL             MODULE-REQUEST RETRIEVAL 

     0.150   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.150   DECLARATIVE            START-RETRIEVAL 

     0.150   PROCEDURAL             CONFLICT-RESOLUTION 

     0.200   DECLARATIVE            RETRIEVED-CHUNK D 

     0.200   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL D 

     0.200   PROCEDURAL             CONFLICT-RESOLUTION 

     0.200   PROCEDURAL             PRODUCTION-SELECTED INCREMENT 

     0.200   PROCEDURAL             BUFFER-READ-ACTION GOAL 

     0.200   PROCEDURAL             BUFFER-READ-ACTION RETRIEVAL 

     0.250   PROCEDURAL             PRODUCTION-FIRED INCREMENT 

3 

     0.250   PROCEDURAL             MOD-BUFFER-CHUNK GOAL 

     0.250   PROCEDURAL             MODULE-REQUEST RETRIEVAL 

     0.250   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.250   DECLARATIVE            START-RETRIEVAL 

     0.250   PROCEDURAL             CONFLICT-RESOLUTION 

     0.250   PROCEDURAL             PRODUCTION-SELECTED STOP 

     0.250   PROCEDURAL             BUFFER-READ-ACTION GOAL 

     0.300   DECLARATIVE            RETRIEVED-CHUNK E 

     0.300   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL E 

     0.300   PROCEDURAL             PRODUCTION-FIRED STOP 
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     0.300   PROCEDURAL             CLEAR-BUFFER GOAL 

     0.300   PROCEDURAL             CONFLICT-RESOLUTION 

     0.300   ------                 Stopped because no events left to process 

この出力はモデルのトレースと呼ばれる．トレースのそれぞれの行はモデルを走らせたときに生じたイベントを表している．秒単位でのイベントの生じた時刻，そのイベントを生成したモジュール，イベントの詳細が示されている．モデルの出力もまたトレースに示されている．デフォルトでは，トレースはモデルにおいて生じたことすべてを示すが，しばしば不必要に詳細すぎるので，トレースに表示される詳細のレベルを変更することができる．この方法は，ユニット１のモデルのコードについて説明した文書で述べる（モデルのコードについて説明した文書は，チュートリアルのユニットそれぞれに添えられており，そのユニットのモデルにおいて用いられたLispコードと関数についてのより詳細な情報を提供する）．
count モデルをテキストエディタで開き，モデルがどのように記述されているか検討を始めよう．チャンクとプロダクションの記述に焦点を当てる．このユニットのモデルで使われている他のコマンドについては，ユニット１のモデル説明文書で述べる．
1.5.1　Countモデルのチャンクタイプ
モデルファイルの中に，このモデルで使われる新しいチャンクタイプについての，以下の２つの記述がある．
(chunk-type count-order first second)

(chunk-type count-from start end count)

count-order というチャンクタイプは数の順序を符号化するチャンクのために用いられる．count-fromというチャンクタイプは，モデルのゴールチャンクのために用いられ，数え始めの数，終わりの数，現在までのカウントを保持するためのスロットを持つ．
1.5.2 　Count モデルの宣言的記憶
モデルファイルの中に，モデルの宣言的記憶に入れられる，初期チャンクの記述がある．

(add-dm

 (b ISA count-order first 1 second 2)

 (c ISA count-order first 2 second 3)

 (d ISA count-order first 3 second 4)

 (e ISA count-order first 4 second 5)

 (f ISA count-order first 5 second 6)

 (first-goal ISA count-from start 2 end 4)

 )

add-dmコマンドの中にあるリストそれぞれはひとつのチャンクを記述している．最初の５つは，b, c, d, e, fという名前であり，数え上げの事実を定義している．これらのチャンクのタイプはcount-orderである．数え上げの事実それぞれは，数え上げの順序での小さい方の数（firstスロットの中）を，数え上げの順序での次の数（secondスロットの中）に結びつけている．この知識により，モデルは数え上げを行うことができる．
最後のチャンクであるfirst-goalはcount-from タイプであり，2（startスロットの中）から4（endスロットの中）までの数え上げを行うというゴールを符号化している．count-from というチャンクタイプには count というもうひとつのスロットがあるが，first-goalチャンクを作ったときには使われていないことに注意しよう．count スロットは記述されていないため，first-goal チャンクでは空白になる．これは，このスロットが値nil を持つということを意味する．
1.5.3　初期ゴールの設定
first-goal チャンクは，モデルでのgoal-focus コマンドにより，モデルの現在のゴールとして宣言されている（goal バッファに入れられる）．
(goal-focus first-goal)

このコマンドの結果はトレースの最初の行で見ることができる．
 0.000   GOAL          SET-BUFFER-CHUNK GOAL FIRST-GOAL REQUESTED NIL 

このトレースは，goal モジュールによって，first-goalチャンクがgoal バッファでのチャンクにセットされていることを示している．このトレースはまた，このチャンクはプロダクションによってリクエストされなかったことを示している．今のところ，これはそれほど重要な詳細ではないが，後のユニットで他のこうした例に戻る． 

モデルのチャンクについて見てきたので，これらのチャンクを用いて数え上げを行うプロダクションを見ることにしよう．
1.5.4　Start プロダクション
前述したように，プロダクションはp コマンドで記述される．count モデルは，start，increment，stopという，３つのプロダクションを持つ．モデルによって最初に選択され発火するプロダクションはstart である．これはトレースの次の部分に見られる．
     0.000   PROCEDURAL         CONFLICT-RESOLUTION 

     0.000   PROCEDURAL         PRODUCTION-SELECTED START 

     0.000   PROCEDURAL         BUFFER-READ-ACTION GOAL 

     0.050   PROCEDURAL         PRODUCTION-FIRED START 

最初の行は，procedural モジュールが競合解消を行い，どのプロダクションが現在のバッファの内容にマッチするかを決めていることを示している．次の行は，マッチしたプロダクションの中で，startプロダクションが選択されたことを示している．３行目は，選択されたプロダクションが，条件にある goal バッファのチャンクをテストしたことを示している．最後の行は，50 ミリ秒後に生じており（時間 0.050），startプロダクションが発火して その行為が実行されることを示している．この50ミリ秒という時間はプロダクション・システムのパラメータであり，すべてのプロダクションは選択されてから発火するまでに50ミリ秒かかる．
start プロダクションの細部を見ることにしよう．次に示すのは，モデルでのこのプロダクションの定義である．
(p start

   =goal>

      ISA         count-from

      start       =num1

      count       nil

 ==>

   =goal>

      count        =num1

   +retrieval>

      ISA         count-order

      first       =num1

)

左辺ではgoal バッファをテストする．変数 =num1として参照される値がstartスロットにあるかどうかのテストである．これをしばしば変数の束縛と言う．=num1 はstartスロットに入っている値に束縛される．このプロダクションはまた，現在はcount スロットが空白である（すなわち，値nilを持つ）ことをチェックする．
右辺では２つの行為を遂行する．最初の行為は，goal バッファにあるチャンクのスロットの値を， =num1 に束縛された値に変えることである．もうひとつ行為は，=num1に束縛された値をfirst スロットに持つ，count-orderタイプのチャンクを検索するよう，宣言的記憶のシステムにリクエストすることである．

これらの行為はトレースでの次の２行に見られる．
     0.050   PROCEDURAL         MOD-BUFFER-CHUNK GOAL 

     0.050   PROCEDURAL         MODULE-REQUEST RETRIEVAL 

トレースでの次の行もstart プロダクションのRHSの結果である．
     0.050   PROCEDURAL         CLEAR-BUFFER RETRIEVAL 

これは， +retrieval> リクエストによる，retrievalバッファの暗黙のクリアである.
次の行は，リクエストを受け取ってチャンク検索のプロセスを開始したという，宣言的記憶のモジュールからの知らせである．
     0.050   DECLARATIVE        START-RETRIEVAL

次の行は，手続き記憶のシステムが新しいプロダクションを探して発火させようとしていることを示している．

     0.050   PROCEDURAL         CONFLICT-RESOLUTION 

しかしながら，次に来ているのはプロダクションが選択されたという知らせではない．この時点では条件を満たすプロダクションは存在しない．

次の行は，宣言的記憶のモジュールによって，検索リクエストが完了され，検索されたチャンクがretrieval バッファにセットされたことを示している．
     0.100   DECLARATIVE        RETRIEVED-CHUNK C 

     0.100   DECLARATIVE        SET-BUFFER-CHUNK RETRIEVAL C 

すると，再び競合解消が行われ，今度はincrementプロダクションが選択された．
     0.100   PROCEDURAL         CONFLICT-RESOLUTION 

     0.100   PROCEDURAL         PRODUCTION-SELECTED INCREMENT 

1.5.5　increment プロダクション
ここに示すのは increment プロダクションの記述である．
(P increment

   =goal>

      ISA         count-from

      count       =num1

    - end         =num1

   =retrieval>

      ISA         count-order

      first       =num1

      second      =num2

==>

   =goal>

      count       =num2

   +retrieval>

      ISA         count-order

      first       =num2

   !output!       (=num1)

)

このプロダクションの LHS では，goal バッファと retrieval バッファの両方をテストしていることがわかる．goal バッファのテストでは，end スロットのテストにおいて修飾子を用いている．
   =goal>

      ISA         count-from

      count       =num1

    - end         =num1

スロットの前についている「-」はネガティブテストの修飾子である．これは，goal バッファにあるチャンクの end スロットが，start スロットと同じ値を持っていないときにのみ，このプロダクションがマッチすることを意味している．

retrieval バッファのテストは ，first スロットの値がgoal バッファでのcount スロットの値と同じであるcount-orderタイプのチャンクが検索されているかをチェックし，変数 =num2  をsecond スロットの値に束縛する．
   =retrieval>

      ISA         count-order

      first       =num1

      second      =num2

トレースでの次の行で，これら２つのバッファがプロダクションによってテストされていることがわかる．
     0.100   PROCEDURAL         BUFFER-READ-ACTION GOAL 

     0.100   PROCEDURAL         BUFFER-READ-ACTION RETRIEVAL 

このプロダクションの RHSを見よう．
   =goal>

      count       =num2

   +retrieval>

      ISA         count-order

      first       =num2

   !output!       (=num1)

最初の２つの行為はstart プロダクションと類似している．goalバッファの count スロットを，retrieval バッファのcount-order チャンクに書かれている次の数に更新し，さらにその次の数を得るためにcount-order チャンクの検索をリクエストする．３番目の行為は，プロダクションの行為において用いることのできる，特別なコマンドである．
   !output!       (=num1)

!output! （バン－アウトプット－バンと発音する) は，トレースに情報を表示するために，プロダクションのRHS で用いることができる．この次には表示するもののリストが続かなければならない．それらはプロダクションが発火したときに印字される．このプロダクションでは，モデルが数え上げた数を表示するのに用いられている． increment プロダクションが最初に発火したときの !output! の結果は，トレースでの次の２行で見ることができる．
     0.150   PROCEDURAL         PRODUCTION-FIRED INCREMENT 
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プロダクションが発火したという知らせの後で，トレースでの１行に出力が表示されている．リスト中の項目は，ここでの例 (=num1) のような変数，(stopping) のような定数アイテム, あるいは(the number is =num)  のようなこれら２つの組み合わせである．
トレースでの次の数行は，increment プロダクションによって開始された行為を示している． これらはstartプロダクションによって生成された行為に非常によく似ている．検索のリクエストがなされ，goal バッファが修正され，チャンクが検索され，そのチャンクがretrieval バッファに入る．
     0.150   PROCEDURAL         MOD-BUFFER-CHUNK GOAL 

     0.150   PROCEDURAL         MODULE-REQUEST RETRIEVAL 

     0.150   PROCEDURAL         CLEAR-BUFFER RETRIEVAL 

     0.150   DECLARATIVE        START-RETRIEVAL 

     0.150   PROCEDURAL         CONFLICT-RESOLUTION 

     0.200   DECLARATIVE        RETRIEVED-CHUNK D 

     0.200   DECLARATIVE        SET-BUFFER-CHUNK RETRIEVAL D 

次に，increment プロダクションが再び選択されていることがわかる．
     0.200   PROCEDURAL         CONFLICT-RESOLUTION 

     0.200   PROCEDURAL         PRODUCTION-SELECTED INCREMENT 

このプロダクションは，goal バッファにあるチャンクのcount スロットと end スロットの値が等しくなってgoal バッファのテストが失敗するまで，繰り返し選択され発火する．トレースでのこの時点まで，このプロダクションが繰り返し発火しているのがわかる．
     0.250   PROCEDURAL             CONFLICT-RESOLUTION 

     0.250   PROCEDURAL             PRODUCTION-SELECTED STOP 

1.5.6　Stop プロダクション
モデルの最後のプロダクションはstopである．
(P stop

   =goal>

      ISA         count-from

      count       =num

      end         =num

==>

   -goal>

   !output!      (=num)

   )

stop プロダクションはgoal バッファにあるチャンクのcount スロットと end スロットの値が等しいときにマッチする．その行為は，やはり現在の数を印字し，goalバッファからチャンクをクリアするというものである．
     0.300   PROCEDURAL             PRODUCTION-FIRED STOP 
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     0.300   PROCEDURAL             CLEAR-BUFFER GOAL 

最後に起こるイベントはもう１回の競合解消である．この時点では，マッチするプロダクションは見つからず，どのモジュールにも（検索の完了のような）未解決のイベントはない．モデルが行うことは何もないので，モデルはストップする．
     0.300   PROCEDURAL             CONFLICT-RESOLUTION 

     0.300   ------     Stopped because no events left to process

1.5.7　パターン・マッチングの練習問題
To show you how ACT-R goes about matching a production rule, you will work through an exercise where you will manually fill in the bindings for the variables of the productions as they are selected.  This is called instantiating the production.  You need to do the following:

1. Either load the count model if it is not currently loaded or reset it to its initial conditions if it has been loaded using either the “Reset” button in the Control Panel or by calling the function reset at the Lisp prompt.

2. Click on the “Stepper” button in the Control Panel to open the Stepper window.  In general, this tool will stop the model before every operation it performs.  Before each action that shows as a line in the trace, the stepper will force the model to wait for your confirmation before taking the action.  That provides you with the opportunity to inspect all of the components of the model as it progresses and can be a very valuable tool for debugging models. Each time a production is selected and when it is fired it will show that production with all of the variables bound.  It will also show the details of which chunk is retrieved when there is a retrieval request.
Right now you are going to use a feature of this window that allows you to manually instantiate the productions.  That is, you will assign all of the variables the proper values when the production is selected before continuing to the firing of that production.  To enable this functionality of the Stepper, click on the “Tutor Mode” checkbox at the top of the window.

3. Click on the “Buffer Viewer” button in the Control Panel to bring up a new Buffer viewer window.  That will display a list of all the buffers for the existing modules.  Selecting one from the list will display the chunk that is in that buffer in the text window to the right of the list.  You can also use the command buffer-chunk to find the names of the chunks in the buffers. Calling it without any parameters will show all of the buffers and the chunks they contain.  If you call it with the name of a buffer, for instance, (buffer-chunk goal), then it will print out the chunk that is in the named buffer.  At this point the buffers are empty, but that will change as the model runs.

4. Now you should run the model. To start running the model you will need to either call the run function or hit the “Run” button on the Control Panel.  The first action that occurs is the setting of the chunk in the goal buffer as was seen in the first line of the trace above:

    0.000   GOAL             SET-BUFFER-CHUNK GOAL FIRST-GOAL REQUESTED NIL 

Hitting the “Step” button in the Stepper window will allow that action to occur.  You can now inspect the chunk in the goal buffer using either the Buffer Viewer or the buffer-chunk command.

1.5.8 The first-goal-0 Chunk and Buffer Chunk Copying

If you inspect the goal buffer you will see that it contains a chunk named first-goal-0 and not the chunk first-goal.  When a chunk is placed into a buffer it is always a new copy of the chunk that goes into the buffer.  The name of the chunk that was copied is also shown in the Buffer Viewer (and by the buffer-chunk command) in square brackets after the name of the chunk actually in the buffer.  The buffers operate as scratch pads for modifying chunks.  As long as a chunk is in a buffer it can be manipulated by productions or any of the other modules.  However, once it leaves the buffer it can no longer be modified by the model because any attempt to put it back into a buffer will only result in a new copy.

1.5.9 Pattern Matching Exercise Continued

5. If you Step past the conflict-resolution event you will come to the first production to match, Start.  Its structure will be displayed in the Stepper window and all of the variables will be highlighted.  Your task is to go through the production rule replacing all the variables with the values to which they are bound.  When you click on a variable a dialog will open in which you can enter its value.  You must enter the value for every instance of a variable in the production (including multiple instances of the same variable) before it will allow you to progress to the next production.

Here are the rules for doing this:

· =goal will always bind to the name of the current contents of the goal buffer.  This can be found with the Buffer viewer or the buffer-chunk command.

· =retrieval will always bind to the name of the chunk in the retrieval buffer.  This can also be found with the Buffer viewer or the buffer-chunk command.

· A variable will have the same value everywhere in a production that matches.  The bound values are displayed in the Stepper window as you enter them.

· At any point in time, you can ask the tutor for help in binding a variable by hitting either the Hint or Help button of the entry dialog.  A hint will instruct you on where to find the correct answer and help will give you the answer.

6. Once the production is completely instantiated, you can fire it by hitting the “Step” button.  The Stepper will then advance through the other events of the model as you continue to hit the “Step” button.  You should step the model to the next production that matches and watch how the contents of the goal and retrieval buffer change based on the actions taken by the Start production.

7. Then, at the risk of too much repetition, you will need to instantiate two instances of the production Increment.  Then, when the start and end slots of the goal are equal, the Stop production will match and that will be the last one which you need to instantiate.

8. When you have completed this example and explored it as much as you want, go on to the next section of this unit, in which we will describe the next model.

1.6 The Addition Model

The second example model uses a slightly larger set of count facts to do a somewhat more complicated task.  It will do addition by counting up.  Thus, given the goal to add 2 to 5 it will count 5, 6, 7, and return the answer 7.  You should load the addition model in the same way as you loaded the count model.

The initial count facts are the same as those used for the count model with the inclusion of a fact that encodes 1 follows 0 and those that encode all the numbers up to 10.  The chunk type for the goal now encodes the starting number (arg1) and the number to be added (arg2):

(chunk-type add arg1 arg2 sum count)

There are two other slots in the goal called count and sum which will be used to hold the results of the counting and the total so far as the model progresses.  Here is the initial goal chunk created for the model:

(second-goal ISA add arg1 5 arg2 2)

Since the count and sum slots are not specified, they are empty, which is indicated with the default value of nil.  

If you run this model (without having the Stepper open) you will see this trace:

     0.000   GOAL                   SET-BUFFER-CHUNK GOAL SECOND-GOAL REQUESTED NIL 

     0.000   PROCEDURAL             CONFLICT-RESOLUTION 

     0.050   PROCEDURAL             PRODUCTION-FIRED INITIALIZE-ADDITION 

     0.050   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.050   DECLARATIVE            START-RETRIEVAL 

     0.050   PROCEDURAL             CONFLICT-RESOLUTION 

     0.100   DECLARATIVE            RETRIEVED-CHUNK F 

     0.100   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL F 

     0.100   PROCEDURAL             CONFLICT-RESOLUTION 

     0.150   PROCEDURAL             PRODUCTION-FIRED INCREMENT-SUM 

     0.150   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.150   DECLARATIVE            START-RETRIEVAL 

     0.150   PROCEDURAL             CONFLICT-RESOLUTION 

     0.200   DECLARATIVE            RETRIEVED-CHUNK A 

     0.200   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL A 

     0.200   PROCEDURAL             CONFLICT-RESOLUTION 

     0.250   PROCEDURAL             PRODUCTION-FIRED INCREMENT-COUNT 

     0.250   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.250   DECLARATIVE            START-RETRIEVAL 

     0.250   PROCEDURAL             CONFLICT-RESOLUTION 

     0.300   DECLARATIVE            RETRIEVED-CHUNK G 

     0.300   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL G 

     0.300   PROCEDURAL             CONFLICT-RESOLUTION 

     0.350   PROCEDURAL             PRODUCTION-FIRED INCREMENT-SUM 

     0.350   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.350   DECLARATIVE            START-RETRIEVAL 

     0.350   PROCEDURAL             CONFLICT-RESOLUTION 

     0.400   DECLARATIVE            RETRIEVED-CHUNK B 

     0.400   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL B 

     0.400   PROCEDURAL             CONFLICT-RESOLUTION 

     0.450   PROCEDURAL             PRODUCTION-FIRED INCREMENT-COUNT 

     0.450   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.450   DECLARATIVE            START-RETRIEVAL 

     0.450   PROCEDURAL             CONFLICT-RESOLUTION 

     0.500   DECLARATIVE            RETRIEVED-CHUNK H 

     0.500   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL H 

     0.500   PROCEDURAL             PRODUCTION-FIRED TERMINATE-ADDITION 

     0.500   PROCEDURAL             CONFLICT-RESOLUTION 

     0.500   ------                 Stopped because no events left to process
The first thing you will notice is that there is less information in the trace of this model than there was in the trace of the count model.  This model is set to show a reduced trace to make it easier to read the sequence of productions that fire.  The model code description document for this unit describes how one can change the amount of detail shown in the trace.  Sometimes having all the details can be useful for determining what a model is doing and other times a more concise trace is desirable.

In this sequence we see that the model alternates between incrementing the count from 0 to 2 and incrementing the sum from 5 to 7. The production Initialize–Addition starts things going and requests a retrieval of an increment to the sum.  Increment-Sum processes that retrieval and requests a retrieval of an increment to the count.  That production fires alternately with Increment-Count, which processes the retrieval of the counter increment and requests a retrieval of an increment to the sum.  Terminate-Addition recognizes when the counter equals the second argument of the addition and modifies the goal to make the model stop.
1.6.1 The Initialize-Addition and Terminate-Addition Productions

The production Initialize-Addition initializes an addition process whereby the system tries to count up from the first digit a number of times that equals the second digit and the production Terminate-Addition recognizes when this has been completed.

(P initialize-addition


English Description
   =goal>




If 
the goal is

      ISA         add


to add the arguments

      arg1        =num1


=num1 and

      arg2        =num2


=num2

      sum         nil


but the sum has not been set

==>





Then

   =goal>





change the goal
      sum         =num1


by setting the sum to =num1
      count       0



and setting the count to 0
   +retrieval>



and request a retrieval
      isa        count-order

of a chunk of type count-order
      first      =num1


for the number that follows =num1
)


This production initializes the sum slot to be the first digit and the count slot to be zero.  It requests a retrieval of the number that follows =num1. 

Pairs of productions will apply after this to keep incrementing the sum and the count slots until the count slot equals the arg2 slot, at which time Terminate-Addition applies:

(P terminate-addition


English Description
   =goal>



If the goal is
      ISA         add

to add

      count       =num

and the count has the same value
      arg2        =num

as arg2

      sum         =answer
and there is a sum

==>




Then

   =goal>                                     
       
change the goal    

      count       nil                    to stop counting   

)


This production clears the count slot of the goal by setting it to nil (remember nil is the value of an empty slot).  This causes the model to stop because other than Initialize-Addition, (which requires that the sum slot be empty) all the other productions require there to be a chunk in the count slot. So, after this production fires none of the productions will match the chunk in the goal buffer. 

1.6.2 The Increment-Sum and Increment-count Productions
The two productions that apply repeatedly between the previous two are Increment-Sum, that harvests the retrieval of the sum increment and requests a retrieval of the count increment, and Increment-Count, that harvests the retrieval of the count increment and requests a retrieval of the sum increment.

(P increment-sum



English Description
   =goal>




If
the goal is
      ISA         add


to add

      sum         =sum


and the sum is =sum

      count       =count


and the count is =count

    - arg2        =count                       and the count has not reached the end  

=retrieval>



and a chunk has been retrieved
      ISA         count-order

of type count-order

      first       =sum


where the first number is =sum
      second      =newsum

and it is followed by =newsum
==>





Then

   =goal>





change the goal
      sum         =newsum

so that the sum is =newsum

   +retrieval>

 

and request a retrieval
      isa        count-order

 of a chunk of type count-order
      first      =count


for the number that follows =count
)

(P increment-count



English Description
   =goal>




If the goal is
      ISA         add


to add

      sum         =sum


and the sum is =sum

      count       =count

  
and the count is =count

   =retrieval>



and a chunk has been retrieved
      ISA         count-order

of type count-order

      first       =count


where the first number is =count
      second      =newcount

and it is followed by =newcount
==>





Then

   =goal>





change the goal
      count       =newcount

so that the count is =newcount
   +retrieval>



and request a retrieval
      isa        count-order

of a chunk of type count-order
      first      =sum


for the number that follows =sum
)

1.6.3 The Addition Exercise

Now, as you did with the count model, you should use the tutor mode of the Stepper to step through the matching of the four productions for this example model.  Once you have completed that you should move on to the next model.

1.7 The Semantic Model

The last example for this unit is the semantic model. It contains chunks which encode the following network of categories and properties.  It is capable of searching this network to make decisions about whether one category is a member of another category.
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1.7.1 Encoding of the Semantic Network

All of the links in this network are encoded by chunks of type property with the slots object, attribute, and value.  For instance, the following three chunks encode the links involving shark:

(p1 ISA property object shark attribute dangerous value true)
(p2 ISA property object shark attribute locomotion value swimming)
(p3 ISA property object shark attribute category value fish)

p1 encodes that a shark is dangerous by encoding a true value on the dangerous attribute.  p2 encodes that a shark can swim by encoding the value swimming on the locomotion attribute.  p3 encodes that a shark is a fish by encoding fish as the value on the category attribute.

You can inspect the chunks in the add-dm command of the model to see how the rest of the semantic network is encoded.
1.7.2 Queries about Category Membership

Queries about category membership are encoded by goals of the is-member type.  There are 3 goals provided in the initial chunks for the model.  The one initially placed in the goal buffer is g1:

(g1 ISA is-member object canary category bird judgment nil)

which represents the query to decide if a canary is a bird.  The judgment slot is nil reflecting the fact that the decision has yet to be made about whether it is true.  If you run the model with g1 in the goal buffer you will see the following trace:

     0.000   GOAL                   SET-BUFFER-CHUNK GOAL G1 REQUESTED NIL 

     0.000   PROCEDURAL             CONFLICT-RESOLUTION 

     0.050   PROCEDURAL             PRODUCTION-FIRED INITIAL-RETRIEVE 

     0.050   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.050   DECLARATIVE            START-RETRIEVAL 

     0.050   PROCEDURAL             CONFLICT-RESOLUTION 

     0.100   DECLARATIVE            RETRIEVED-CHUNK P14 

     0.100   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL P14 

     0.100   PROCEDURAL             CONFLICT-RESOLUTION 

     0.150   PROCEDURAL             PRODUCTION-FIRED DIRECT-VERIFY 

     0.150   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.150   PROCEDURAL             CONFLICT-RESOLUTION 

     0.150   ------                 Stopped because no events left to process
This is among the simplest cases possible and involves only the retrieval of this property

(p14 ISA property object canary attribute category value bird)

for verification of the query. There are two productions involved.  The first, Initial-Retrieve, requests the retrieval of categorical information and the second, Direct-Verify, harvests that information and sets the judgment slot to yes:

(p initial-retrieve



English Description
   =goal>




If 
the goal is  
      ISA         is-member

to judge membership

      object      =obj


of =obj

      category    =cat


in the category =cat

      judgment    nil


and the judgment has not begun
==>





Then

  =goal>





change the goal
      judgment    pending

so that the judgment is pending
   +retrieval>  


and request a retrieval
      ISA         property

of a chunk of type property

      object      =obj


for the object =obj

      attribute   category

involving the attribute category
)

(P direct-verify



English Description
   =goal>




If 
the goal is
      ISA         is-member

to judge the membership

      object      =obj


of =obj

      category    =cat


in the category =cat

      judgment   pending


and the judgment is pending
   =retrieval>



and a chunk has been retrieved
      ISA         property

of type property

      object      =obj


for the object =obj

      attribute   category

involving an attribute category
      value       =cat


with the value =cat

==>





Then

   =goal>





modify the goal
      judgment    yes
so that the judgment is yes
)

You should now work through the pattern matching process in the tutor mode of the Stepper with the goal set to g1.

1.7.3 Chaining Through Category Links

A slightly more complex case occurs when the category is not an immediate super ordinate of the queried object and it is necessary to chain through an intermediate category.  An example where this is necessary is in the verification of whether a canary is an animal and such a query is defined in chunk g2:

(g2 ISA is-member object canary category animal judgment nil)

One can change the goal to g2 by the command (goal-focus g2).  This can be done by editing the model and reloading or by entering (goal-focus g2) at the Lisp prompt.  Running the model with chunk g2 as the goal will result in the following trace:

     0.000   GOAL                   SET-BUFFER-CHUNK GOAL G2 REQUESTED NIL 

     0.000   PROCEDURAL             CONFLICT-RESOLUTION 

     0.050   PROCEDURAL             PRODUCTION-FIRED INITIAL-RETRIEVE 

     0.050   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.050   DECLARATIVE            START-RETRIEVAL 

     0.050   PROCEDURAL             CONFLICT-RESOLUTION 

     0.100   DECLARATIVE            RETRIEVED-CHUNK P14 

     0.100   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL P14 

     0.100   PROCEDURAL             CONFLICT-RESOLUTION 

     0.150   PROCEDURAL             PRODUCTION-FIRED CHAIN-CATEGORY 

     0.150   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.150   DECLARATIVE            START-RETRIEVAL 

     0.150   PROCEDURAL             CONFLICT-RESOLUTION 

     0.200   DECLARATIVE            RETRIEVED-CHUNK P20 

     0.200   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL P20 

     0.200   PROCEDURAL             CONFLICT-RESOLUTION 

     0.250   PROCEDURAL             PRODUCTION-FIRED DIRECT-VERIFY 

     0.250   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.250   PROCEDURAL             CONFLICT-RESOLUTION 

     0.250   ------                 Stopped because no events left to process

This involves an extra production, Chain-Category, which retrieves the category in the case that an attribute has been retrieved which does not allow a decision to be made.  Here is that production:

(P chain-category



English Description
   =goal>




If 
the goal is
      ISA         is-member

to judge the membership

      object      =obj1


of =obj1

      category    =cat


in =cat

      judgment    pending

and the judgment is pending
   =retrieval>



and a chunk has been retrieved
      ISA         property

of type property

      object      =obj1


for the object =obj1

      attribute   category

involving an attribute category
      value       =obj2


with a value =obj2

    - value       =cat


and this is not the same as =cat
==>





Then

   =goal>





change the goal
      object      =obj2


to judge the category membership of =obj2
   +retrieval>  


and request a retrieval
      ISA         property

of a chunk of type property

      object      =obj2


for the object =obj2

      attribute   category

involving the attribute category
)
You should now go through the pattern matching exercise in the Stepper with g2 set as the goal.

1.7.4 The Failure Case

Now change the goal to the chunk g3.

(g3 ISA is-member object canary category fish judgment nil)

If you run with this goal, you will see what happens when the chain reaches a dead end:

     0.000   GOAL                   SET-BUFFER-CHUNK GOAL G3 REQUESTED NIL 

     0.000   PROCEDURAL             CONFLICT-RESOLUTION 

     0.050   PROCEDURAL             PRODUCTION-FIRED INITIAL-RETRIEVE 

     0.050   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.050   DECLARATIVE            START-RETRIEVAL 

     0.050   PROCEDURAL             CONFLICT-RESOLUTION 

     0.100   DECLARATIVE            RETRIEVED-CHUNK P14 

     0.100   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL P14 

     0.100   PROCEDURAL             CONFLICT-RESOLUTION 

     0.150   PROCEDURAL             PRODUCTION-FIRED CHAIN-CATEGORY 

     0.150   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.150   DECLARATIVE            START-RETRIEVAL 

     0.150   PROCEDURAL             CONFLICT-RESOLUTION 

     0.200   DECLARATIVE            RETRIEVED-CHUNK P20 

     0.200   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL P20 

     0.200   PROCEDURAL             CONFLICT-RESOLUTION 

     0.250   PROCEDURAL             PRODUCTION-FIRED CHAIN-CATEGORY 

     0.250   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.250   DECLARATIVE            START-RETRIEVAL 

     0.250   PROCEDURAL             CONFLICT-RESOLUTION 

     0.300   DECLARATIVE            RETRIEVAL-FAILURE 

     0.300   PROCEDURAL             CONFLICT-RESOLUTION 

     0.350   PROCEDURAL             PRODUCTION-FIRED FAIL 

     0.350   PROCEDURAL             CONFLICT-RESOLUTION 

     0.350   ------                 Stopped because no events left to process

The production Fail applies and fires when a retrieval attempt fails.  This production uses a condition on the LHS that we have not yet seen.

1.7.5 Query Conditions

In addition to testing the chunks in the buffers as has been done in all the productions to this point, it is also possible to query the state of the buffer or the module which controls it.  This is done using the “?” operator instead of an “=” before the name of the buffer.  A module may have a number of different queries to which it will respond, but there are some to which all buffers and modules will always respond.  The queries that are always valid are whether there is a chunk in the buffer or not, whether or not that chunk was requested by the procedural module, and for one of three possible states of the module: free, busy, or error.  The queries are either true or false.  If any query is false, then the production does not match.  Here are examples of the possible queries with respect to the retrieval buffer. 

This query will be true if there is any chunk in the retrieval buffer:

  ?retrieval>

      buffer      full

This query will be true if there is not a chunk in the retrieval buffer:

   ?retrieval>

       buffer     empty

This query will be true if the chunk in the retrieval buffer was requested by a production (which should always be true for the retrieval buffer):

   ?retrieval>

       buffer     requested
This query will be true if the chunk in the retrieval buffer was placed there other than by a request in a production:

   ?retrieval>

       buffer     unrequested
This query will be true if the retrieval buffer’s module (the declarative memory module) is not currently working to retrieve a chunk:

   ?retrieval>

      state       free

This query will be true if the declarative memory module is working on retrieving a chunk:

   ?retrieval>

      state       busy

This query will be true if there was an error in the last request made to the retrieval buffer:

   ?retrieval>

      state       error

For retrieval requests, that means that no chunk could be found that matched the request.

It is also possible to make multiple queries at the same time.  For instance this query would check if the module was not currently handling a request and that there was currently a chunk in the buffer:

   ?retrieval>

      state       free

      buffer      full

One can also use the optional negation modifier “-” before a query to test that such a condition is not true.  Thus, either of these tests would be true if the declarative module was not currently retrieving a chunk:
   ?retrieval>

      state       free

or

   ?retrieval>

     - state      busy
1.7.6 The Fail production 

Now, here is the production that fires in response to a category request not being found.

(P fail
English Description
   =goal>




If
the goal is
      ISA         is-member

to judge membership

      object      =obj1


of =obj1

      category    =cat  


in =cat

      judgment    pending

and the judgment is pending
   ?retrieval>



and the retrieval
      state       error


has failed

==>





Then

   =goal>





change the goal
      judgment    no
so that the judgment slot is no

)

Note the testing for a retrieval failure in the condition of this production.  When a retrieval request does not succeed, in this case because there is no chunk in declarative memory that matches the specification requested, the buffer’s state indicates an error. In this model, this will happen when one gets to the top of a category hierarchy and there are no super ordinate categories.

You should now make sure your goal is set to g3, and then go through the pattern matching exercise using the Stepper.

1.7.7 Model Warnings

Now that you have worked through the examples we will examine another detail which you might have noticed while working on this model. When you first loaded the model there should have been warnings like this displayed:

#|Warning: Creating chunk CATEGORY of default type chunk |#

#|Warning: Creating chunk PENDING of default type chunk |#

#|Warning: Creating chunk YES of default type chunk |#

#|Warning: Creating chunk NO of default type chunk |#

Lines that begin with ”#|Warning:” are warnings from ACT-R.  These indicate that there is something in the model that may need to be addressed.  This differs from warnings or errors which may be reported by your Lisp application which indicate a problem in the overall syntax or structure of the Lisp code in the file.  If you see ACT-R warnings when loading a model you should always check them to make sure that there is not a serious problem in the model.  

In this case, the warnings are telling you that the model uses chunks named category, pending, yes, and no, but does not explicitly define them and thus they are being created automatically.  That is fine in this case.  Those chunks are being used as explicit markers in the productions and there is no real problem with allowing the system to create them.  

If there had been a typo in one of the productions however, for instance misspelling pending in one of them as “pneding”, looking at the warnings would have shown something like this:
#|Warning: Creating chunk PENDING of default type chunk |#

#|Warning: Creating chunk PNEDING of default type chunk |#

That would provide you with an opportunity to fix the problem before running the model and trying to determine why the production did not fire when expected.
There are many other ACT-R warnings that could be displayed and you should always read them to make sure that there are no serious problems before running the model.
1.8 Building a Model

We would like you to now construct the pieces of an ACT-R model on your own. The tutor-model file included with the tutorial models contains the basic code necessary for a model, but does not have any of the declarative or procedural elements defined. The instructions that follow will guide you through the creation of those components.  You will be constructing a model that can perform addition of two two-digit numbers.  Once all of the pieces have been added as described, you should be able to load and run the model to produce a trace that looks like this:

     0.000   GOAL                   SET-BUFFER-CHUNK GOAL GOAL REQUESTED NIL 

     0.000   PROCEDURAL             CONFLICT-RESOLUTION 

     0.050   PROCEDURAL             PRODUCTION-FIRED START-PAIR 

     0.050   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.050   DECLARATIVE            START-RETRIEVAL 

     0.050   PROCEDURAL             CONFLICT-RESOLUTION 

     0.100   DECLARATIVE            RETRIEVED-CHUNK FACT67 

     0.100   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL FACT67 

     0.100   PROCEDURAL             CONFLICT-RESOLUTION 

     0.150   PROCEDURAL             PRODUCTION-FIRED ADD-ONES 

     0.150   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.150   DECLARATIVE            START-RETRIEVAL 

     0.150   PROCEDURAL             CONFLICT-RESOLUTION 

     0.200   DECLARATIVE            RETRIEVED-CHUNK FACT103 

     0.200   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL FACT103 

     0.200   PROCEDURAL             CONFLICT-RESOLUTION 

     0.250   PROCEDURAL             PRODUCTION-FIRED PROCESS-CARRY 

     0.250   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.250   DECLARATIVE            START-RETRIEVAL 

     0.250   PROCEDURAL             CONFLICT-RESOLUTION 

     0.300   DECLARATIVE            RETRIEVED-CHUNK FACT34 

     0.300   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL FACT34 

     0.300   PROCEDURAL             CONFLICT-RESOLUTION 

     0.350   PROCEDURAL             PRODUCTION-FIRED ADD-TENS-CARRY 

     0.350   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.350   DECLARATIVE            START-RETRIEVAL 

     0.350   PROCEDURAL             CONFLICT-RESOLUTION 

     0.400   DECLARATIVE            RETRIEVED-CHUNK FACT17 

     0.400   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL FACT17 

     0.400   PROCEDURAL             CONFLICT-RESOLUTION 

     0.450   PROCEDURAL             PRODUCTION-FIRED ADD-TENS-DONE 

     0.450   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.450   PROCEDURAL             CONFLICT-RESOLUTION 

     0.450   ------                 Stopped because no events left to process 
There is a working solution model contained in the experiment description text for this unit.  So, if you have problems you can consult that for help, but you should try to complete these tasks without looking first. 

You should now open the tutor-model file in a text editor if you have not already.  The following sections will describe the components that you should add to the file in the places indicated by comments in the model (the lines that begin with the semicolons).

1.8.1 Chunk-types

The first thing we need to do is define the chunk types that will be used by the model.  There are two chunk-types which we will define for doing this task.  One to represent addition facts and one to represent the goal chunk which holds the components of the task for the model.  These chunk types will be created with the chunk-type command as described in section 1.2.1.

1.8.1.1 Addition Facts

The first chunk type you will need is one to represent the addition facts.  It should be named addition-fact and have slots named addend1, addend2, and sum.

1.8.1.2 The Goal Chunk Type

The other chunk type you will need is one to represent the goal of adding two two-digit numbers.  It should be named add-pair. It must have slots to encode all of the necessary components of the task.  It should have two slots to represent the ones digit and the tens digit of the first number called one1 and ten1 respectively.  It will have two more slots to hold the ones digit and the tens digit of the second number called one2 and ten2, and two slots to hold the answer, called one-ans and ten-ans. It will also need a slot to hold any information necessary to process a carry from the addition in the ones column to the tens column which should be called carry.

After you have created those chunk-types you have completed the chunk type portion of this model. Now it is time to create the chunks that allow the model to perform addition along with an initial goal to do such an addition.

1.8.2 Chunks

We are now going to define the chunks that will allow the model to solve the problem 36 + 47. This is done using the add-dm command which is described in section 1.2.2.

1.8.2.1 The Addition Facts

You need to add the addition facts to encode the following math facts:

3+4=7

6+7=13

10+3=13

1+7=8

They will be of type addition-fact and should be named based on their addends.  For example, the fact that 3+4=7 should be named fact34.  The addends and sums for these facts will be the appropriate numbers.

1.8.2.3 The Initial Goal

You should now create a chunk called goal which encodes that the goal to add 36+47.  This should be done by specifying the values for the ones and tens digits of the two numbers and leaving all of the other slots empty.

Once you have completed adding the chunk-types and chunks to the model you should be able to load it and inspect the components you have created.  To see the chunks you have created you can press the “Declarative Viewer” button on the Control Panel. That will open a declarative memory viewer (every time you press that button a new declarative viewer window will be opened). You can view a particular chunk by clicking on it in the list of chunks on the left of the declarative memory viewer.  If you define a lot of chunks it may be difficult to find a particular one in the list.  To help in that situation there is a filter at the top of the declarative memory viewer (the recessed button that defaults to saying none) that will allow you to specify a particular chunk-type, and only chunks having that chunk-type will be displayed.  Try selecting addition-fact as the filter.  You should now only see the chunks for the addition facts that you created.  If you select none for the filter, then all of the chunks are displayed.  

You can also inspect declarative memory from the Lisp prompt.  The command dm will print out all of the chunks in declarative memory.  You can also specify the name of chunks as parameters to the dm command and only those chunks will be printed.  The command sdm can be used like the filter in the declarative memory viewer.  Its parameters are a chunk description (similar to a retrieval request) and it prints out only those chunks from the model’s declarative memory which match that description.  For example, (sdm isa addition-fact) will print out only those chunks which are of type addition-fact and (sdm isa addition-fact addend1 3) will print only the addition facts that have the value 3 in the addend1 slot.

You are now ready to begin the next section, where you will write production rules.

1.8.2 Productions

So far, we have been looking mainly at the individual production rules in the models.  However, production systems get their power through the interaction of the production rules.  Essentially, one production will set the condition for another production rule to fire, and it is the sequence of productions firing that lead to performing the task.

Your task is to write the ACT-R equivalents of the production rules described below in English, which can perform multi-column addition.  To do that you will need to use the ACT-R p command to specify the productions as described in sections 1.2.5 and 1.3.

Here are the English descriptions of the six productions needed for this task.

START-PAIR

IF the goal is to add a pair of numbers 

   and the ones digits of the pair are available

   but the ones digit of the answer is nil
THEN note in the one-ans slot that you are busy computing 

      the answer for the ones digit

   and request a retrieval of the sum of the ones digits. 

ADD-ONES

IF the goal is to add a pair of numbers 
   and you are busy waiting for the answer for the ones digit

   and the sum of the ones digits has been retrieved

THEN store the sum as the ones answer

   and note that you are busy checking the answer for the carry

   and request a retrieval to determine if the sum equals 10

     plus a remainder.

PROCESS-CARRY

IF the goal is to add a pair of numbers

   and the tens digits are available

   and you are busy working on the carry

   and the one-ans equals a value which a retrieval

    finds is the sum of 10 plus a remainder

THEN make the ones answer the remainder 

   and note that the carry is 1
   and note you are busy computing the sum of the tens digits

   and request a retrieval of the sum of the tens digits.

NO-CARRY

IF the goal is to add a pair of numbers

   and the tens digits are available

   and you are busy working on the carry

   and the one-ans equals a sum

   and there has been a retrieval failure

THEN note that the carry is nil
   and note you are busy computing the sum of the tens digits

   and request a retrieval of the sum of the tens digits.

ADD-TENS-DONE

IF the goal is to add a pair of numbers

   and you are busy computing the sum of the tens digits

   and the carry is nil
   and the sum of the tens digits has been retrieved

THEN note the sum of the tens digits.

ADD-TENS-CARRY

IF the goal is to add a pair of numbers

   and the tens digits are available

   and you are busy computing the sum of the tens digits
   and the carry is 1
   and the sum of the tens digits has been retrieved

THEN set the carry to nil

   and request a retrieval of one plus that sum.

When you are finished entering the productions, save your model, reload it, and then run it.  

If your model is correct, then it should produce a trace that looks like the one above, and the correct answer should be encoded in the ten-ans and one-ans slots of the chunk in the goal buffer.  

1.8.3 Incremental Creation of Productions

It is possible to write just one or two productions and test them out first before you go on to try to write the rest – to make sure that you are on the right track.  For instance, this is the trace you would get after successfully writing the first two productions and then running the model:

     0.000   GOAL                   SET-BUFFER-CHUNK GOAL GOAL REQUESTED NIL 

     0.000   PROCEDURAL             CONFLICT-RESOLUTION 

     0.050   PROCEDURAL             PRODUCTION-FIRED START-PAIR 

     0.050   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.050   DECLARATIVE            START-RETRIEVAL 

     0.050   PROCEDURAL             CONFLICT-RESOLUTION 

     0.100   DECLARATIVE            RETRIEVED-CHUNK FACT67 

     0.100   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL FACT67 

     0.100   PROCEDURAL             CONFLICT-RESOLUTION 

     0.150   PROCEDURAL             PRODUCTION-FIRED ADD-ONES 

     0.150   PROCEDURAL             CLEAR-BUFFER RETRIEVAL 

     0.150   DECLARATIVE            START-RETRIEVAL 

     0.150   PROCEDURAL             CONFLICT-RESOLUTION 

     0.200   DECLARATIVE            RETRIEVED-CHUNK FACT103 

     0.200   DECLARATIVE            SET-BUFFER-CHUNK RETRIEVAL FACT103 

     0.200   PROCEDURAL             CONFLICT-RESOLUTION 

     0.200   ------                 Stopped because no events left to process

The first production, start-pair, has run and successfully requested the retrieval of the addition fact fact67.  The next production, add-ones, then fires and makes a retrieval request to determine if there is a carry.  That chunk is retrieved and then because there are no more productions the system stops.  You may find it helpful to try out the productions occasionally as you write them to make sure that the model is working as you progress instead of writing all the productions and then trying to debug them all at once.
1.8.4 Debugging the Productions

In the event that your model does not run correctly you will need to determine why that is so you can fix it.  One tool that can help with that is a command called whynot.  The whynot command can be used to tell you what condition on the LHS of a production is causing it to fail to match.  It can be called from the Lisp prompt with the name of a production, or it is also available as a button on the “Procedural Viewer” of the Control Panel.  To use the ACT-R environment’s version you should select a production from the list of defined productions in the Procedural Viewer window and then press the “Whynot” button.  It will open a window with the details of why the production does not match or print the current instantiation of that production if in fact it does match.

The Stepper is also an important tool for use when debugging a model because it lets you watch everything that the model does.  You can also use whynot, the Buffer viewer, and the Declarative viewer windows while using the Stepper to better understand what is happening in the model at any specific point in its run.
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